Monthly Test, November - 2010
Sub : Maths, Class : X

Time: 40 Min. M.M : 20
Notr :- Rates of Income tax for a given financial vear 2008-2009
should be provided to students by the teacher

0.1 Each question carries one mark.

0.2

0.3

(i)

(i)
(i)

(iv)

(v}

Determine whether x=1 is solution of the equation:
Sxt-bx+1=0
Find discriminant: »*-Tx+12=0)
Find common difference of the Arithematic Progression:
10,7, 4, 1,2, oo
In the following sequences, find which one is A.P.
2,5,8,11,14 ...,

and
3,9,27,81 .
Give an example of each Direct Taxes and Indirect Taxes.

Each question carries two marks.

(i)  Find the roots of the quadratic equation: y2-6y+35=0
(i} Which term of AP, 5,10,15,20,25,..............., i5625.
(iii)  Find fiftcenth term (t ) of A.P.2,4.6,8, 10, ...
Each question carries three marks. 25
{ity  The sum of number and its reciprocal is TR
Find the number.
(i) Find sum of Arithematic progression
10« 20+ 30+ 40+ ., + 20M)
(uf) Harish kumar has total income of Rs, 382,000 in vear

2008-2009. If he deposites Rs. 1000/- per month in GPF,
and Rs. 25, 000 annually in L.1.C., calculate his income
tax.
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